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(1) Bread and butter (O O O ) served for breakfast here.
(2) Not only you but also I (O O O) poor at math.

(3) T as well as you (O O O ) good at tennis.

(4) Our class (0 0 0O) all diligent.

(5) Twenty dollars (O O O ) too much for this T-shirt.
(6) No news (00O 0) good news.

(7) The poet and novelist (O O 0O ) dead.

(8)

8) More than one teacher (O O O) present.

9 0oooo(O0D0)00000000000000000000
(10x 6)

(1) The train was (O 0O ) crowded that I couldn’t get a seat.
(2) He is good at volleyball (O OO ) he is short.

(3) Keep quiet (OO O ) the baby will not wake.

(4) (0O 0O) it rains, the ceremony will be held.

()
(6)

(
I will not change my plan (O O O ) you agree or not.
6) (

0 0 0O) she sometimes tells a lie, I don’t believe her.

[so, since, so that, even if, whether, though, such]

10 coooooooooooooooOooOOOOO (coo)oo
00000000000 (2Ox 3)

(1) gdoboooouobuoouobobooouooouooon
(medicine, you, take, this,) will feel better.

(2) 000000O0O0D0OD0ODODOO0O0OO
(mine, my brother’s, is, bicycle, not, this).

(3) D0ODOOOO0ODOODDOOOO
(wrong, I, my answer, wonder, is).

(1)

(2)

(3)

11 cooooooooooooooo 1000000@uo)o
O000000oooooo@oOx 3)

(1)DDDDDDDDDDDDDDDDDDDD
(either, I, coffee, tea, drink) every morning.
(2)DDDDDDDDDDDDDDDDDDDDDDDD

(too difficult, too easy, is, this, neither, book) for me.

(3) gbdboodoooobooooooobooooaa
(his wife, he, invited, both, to, were) dinner.

(1)

(2)

3)

12 cooooooooOoOoOOOOOOOO0O0((Ox 2)

(1) Since it rained, we couldn’t have a barbecue.

(2) T won’t buy the book because it is so expensive.

(1)

(2)
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8 000 be00OD0OOOODOOODODO((2Ox 8)

(1) Bread and butter (O O O ) served for breakfast here.
(2) Not only you but also I (O O O) poor at math.

(3) T as well as you (O O O ) good at tennis.

(4) Our class (0 0 0O) all diligent.

(5) Twenty dollars (O O O ) too much for this T-shirt.
(6) No news (00O 0) good news.

(7) The poet and novelist (O O 0O ) dead.

(8)

8) More than one teacher (O O O) present.

(3) am (4) are

(5) is (6) is

(7) is (8) is

9 00000 (@o0)00000o0o0ooooooooooooo

1

(10x 6)

The train was (0 0 O ) crowded that I couldn’t get a seat.
2) He is good at volleyball (O O O) he is short.

(1)
(2)
(3) Keep quiet (OO O ) the baby will not wake.
(4) (0O 0O) it rains, the ceremony will be held.

(5) I will not change my plan (O O O ) you agree or not.
(6) (O OO ) she sometimes tells a lie, I don’t believe her.
[so, since, so that, even if, whether, though, such]

(1) S10) (2) though
(3) so that (4) Even if
(5) whether (6) Since

10 coooooooooooooooOooOOOOO (coo)oo
00000000000 (2Ox 3)

(1) gdoboooouobuoouobobooouooouooon
(medicine, you, take, this,) will feel better.

(2) 000000O0O0D0OD0ODODOO0O0OO
(mine, my brother’s, is, bicycle, not, this).

(3) D0ODOOOO0ODOODDOOOO
(wrong, I, my answer, wonder, is).

(1) | Take this medicine, and you

(2) | This bicycle is not mine but my brother’s.

(3) | I wonder if[whether| my answer is wrong.

11 cooooooooooooooo 1000000@uo)o
O000000oooooo@oOx 3)

(1)DDDDDDDDDDDDDDDDDDDD
(either, I, coffee, tea, drink) every morning.
(2)DDDDDDDDDDDDDDDDDDDDDDDD

(too difficult, too easy, is, this, neither, book) for me.

(3) gbdboodoooobooooooobooooaa
(his wife, he, invited, both, to, were) dinner.

(1) | I drink either coffee or tea

(2) | This book is neither too difficult nor too easy

(3) | Both he and his wife were invited to

12 cooooooooOoOoOOOOOOOO0O0((Ox 2)

(1) Since it rained, we couldn’t have a barbecue.

(2) T won’t buy the book because it is so expensive.

(1) | If it hadn’t rained, we could have had a barbecue.

(2) | I would buy the book if it weren’t[wasn’t] so expensive.




